Homing Missile Simple
1. Why is it important that we start the Missile -> Step event by asking
if instance_exists(o_enemy)=false {

the next lines after this will try to find the direction towards o_enemy.  If it doesn't exist in the room an error will occur.  You have to make sure that there is an o_enemy in the room!

2. How often does the missile change its direction?

Every 15 steps, so about 1/2 a second.

3. What does instance_find(o_enemy, 0) use the number 0 as a parameter?

In this program there is only one enemy on the screen.  Since counting starts at zero, the first enemy you want to find is enemy zero.
Homing Missile Advanced
1. What is the role of the variable global.target ?

global.target keeps track of the id of the selected enemy.  As you press the T key the global.target variable is set to different enemy's id.

2. When picking a random number in the line num=irandom_range(0,howmany-1) , why do we subtract one from howmany?  

Since counting starts at zero, the last enemy is always howmany-1.  For example, if you had 5 enemies on the screen, they would be 0,1,2,3,4.  You need to pick a number between 0 and 4, NOT 0 and 5.

3. What problem would occur if you didn't subtract one?

If you try to grab enemy 5 when there is no enemy 5, you will get an id number that doesn't exists in the room and when you try to use it there will be an error.

4. Consider player->space bar.  Describe a game situation in which pressing the space bar would NOT create a missile.

missiles are only created when the global.target id exists in the room.  If the currently selected enemy is destroyed by a missile, then global.target would be the id of an enemy that doesn't exist any more.  Pressing the space bar wouldn't fire a missile since this would cause an error.

5. Consider player->space bar.  Why do we set a missiles myTarget variable to global.target?

Each missile keeps track of it's target with the myTarget variable.  Coding it this way allows each missile to control it's own motion in the step method after it is created since it knows its target.

6. Consider enemy->draw.  Explain what the check if global.target=id  is checking.

The enemy is asking:     am I the global target?   If so, draw a circle around myself.

7. How does the missile know if it's target enemy is still alive?

It can just ask   if instance_exists(myTarget)
Base and Returning Soliders
1. What does the with o_soldier statement do?

It make every soldier run the code inside the  {    }.

2. Consider base->mouse left pressed.  Which game object is the word other referring to when used inside of a with statement?

Using other inside of a with statement takes you back OUTSIDE of the with statement.  Since this code is in a Base, the other.id refers to this bases id.

3. Consider soldier->draw.  Why do we need to use draw_sprite(s_soldier, -1, x,y) in this event?

Once you add the code inside of draw to display the base number of the soldier, the soldier sprite no longer draws.  The only time that object sprites are automatically drawn for you is when you leave the DRAW event empty.

4. Consider soldier->step.  How would the program behave if we removed the line speed=0 ?

The soldiers would return to the base and then keep walking in the same direction and eventually leave the screen.
Mines and Detonation
1. What is the role of the global.selected variable?

The id of the last base that was pressed.

2. Consider base->mouse right pressed.  What is the point of using a variable made with the line  var myid;   ?

This type of variable is called a local variable.  Local variables only exist on the page of code that they are declared on.  They are also not affected by being inside of with statements.  This is why a var was used here.

When inside the with statement, I would like to have knowledge of the the base's id.  We create a local variable and set it equal to the base's id.  Inside the with statement you can use this variable. 

In previous tasks, we used other.id to accomplish the same task.


3. If you didn't use var myid, how would you have to code this event?

You could replace myid with other.id.
Chain Mines
1. If you had to explain in English how the chain mine feature works, you would say...

Once a mine is selected to detonate, it will explode, but before it does it will tell every mine within 60 pixels to explode in 10 steps.  This chain reaction continues on and on as long as there are mines within 60 pixels.
Grid Based Movement and Ghost Moves
1. When moving the player, we use instance_place.  We could also have used place_meeting.  What is the difference between these two methods?

instance_place  will return the id number if an object is at the location specified.  You can check if no object is returned by asking if      < 0 is returned.

place_meeting returns true or false instead of an id number.  So you just have to ask if place_meeting     =  false  to check if the location is free.
2. T/F:
We check to see if the location we are about to move to is a good place to move to before we actually move there.

3. T/F:   When manually moving objects with x=x+4, the game maker variables speed and direction will automatically change to 4 and 0 respectively.

When you move objects manually, speed and direction are unchanged.  You would have to keep track of these or set these yourself if you need to know their values.
4. setNewDirection() is a __script__.   It has _0_ parameters and returns no value .

5. Don't worry about lists.  They won't be on the test.  

6. Why did we select to move the player and the ghosts 4 pixels at a time?

Since the wall pieces and grid size have been selected 32X32 pixels in size, we want to make sure that the player always keeps well aligned with the grid and intersections.  4 divides into 32 nicely so we know that we will always line up when reaching intersections. 
Mother Coins
1. How many coins are made by a Mother coin?

6

2. Instead of starting the loop counter k at 1,  you start it at 5.
for (k=5; ???  ; k=k+1) 
You still want 6 coins to be produced.  What should ??? be replaced with ?

k=5; k<=10; k=k+1    or k=5; k<11; k=k+1
These both still run the loop 6 times.

3. How does a coin know who it's mother is?

It has a variable called myMom that is set when it is created by the mother coin.

4. How do we know when all of a mother coin's coins are all gone?

mother coins keep track of how many of their coins exists with the variable numCoins.  Every time one of their coins is destroyed, it is decreased by one and a quick check to see if there are zero left will let you know.

5. Consider coin->collides with mother coin.
What is  other.id ?    

The mother coin's id that this coin just collided with.
